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SOCIOLOGY
( General )
Course : 501

( Social Problems in India )

Full Marks : 80
Pass Marks : 32/24

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. oo RaRaR we Tewhl IR e : 1x8=8

Choose the correct answer from the
following :

(a) SR @O IR AR TR SR R
w?

Due to which of the following factors
social problem occurs?

(i) aLAEF el

Economic imbalance
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(2)

(i) IR Rt

Social disorganization

L e

Technological change

(b) AR IR CFIS Tod (FIACHI T 07 ?

Which of the following is a correct
opinion for social problem?

(i) TR TP A TS ST W |

Social problems occur in all
societies.

(i) T IARACT IRTSR ARSI
e =

Only political factors create social
problems.

(i) @ ST SRR TRE  TPm
R T

Social problems are seen only in
modern societies.
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(3)

(c) The Pathology of Corruption NI JRITJ
E@F @FA?
Who is the author of the book,
The Pathology of Corruption?

() 9T F'=H
Albert Cohen

(i) I ==
Ram Ahuja

(iii) 9%, 9%, e
S. S. Gill

(d) TBAE TR SRIA FT T O Sred
]WA?
On which date is the International
Human Rights Day observed?

(i) So RvTa

10 December

(i) S¢ TRA

15 January
(iti) R (EH
22 September
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(e)

@)

16-21/5
)

(4)

STfeE e’ sReRmbR e Rer
cafeE

When did the concept of ‘social security’
develop?

() >4 «RFJrS / 17th century
(i) >v *fSFS / 18th century
(i) >» +fITS / 19th century

SRS @ 9% ‘T TESaq ARy
afSS T4 CafRE 2

In which year was the Central Social
Welfare Board established in India?

@i 1951
(i) 1952
(i) 1953

o[, f5. TR % 9N, 97, ORGSR
TP IR RS Roe aRkeg?

Social problems are divided into

how many types by R. C. Fuller and
R. R. Myers?

(i) 1 / Two
(i) fF%1 / Three
(i) BIRGI / Four
( Continued )



(5)

fh) AIDS-3 3o *5rs o [ 2

What is the full form of the abbreviation
AIDS?

(i) <6 T Rfdr Hag's

Acquired Immuno Disease Syn-
drome

(ii) S T Rl oy
Acquired Immuno Disease Symp-
tom

(i) S T CoRPERT g’y

Acquired Immuno Deficiency Syn-
drome

2. @ AR R @ wiverR oy O o (afSeht
yeo %3 f55T0) : 4x4=16
Write short notes on any four of the following
(within 150 words each) :

(a)

(b

()
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e Fem v fesae

Illiteracy as social problem

e S fRere menfer

Alcoholism as a social problem

Gy REFRR T IR

Major factors of population explosion
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(6)

(d) TR fRrer gEEaEel

Importance of social security

(e) TER AH&GF FTPIPTZ
Social problems of aged

() ToefEeR THPHR
Symptoms of alcoholism

3. wifG opE e for, efechr 4ed o P (2fee
too #wq fTo99) :
Answer four questions, taking two from each
Part (within 500 words each) :

Jo—> / Part—1

(@) TR 0 e & e T R
(afiEPTYZ SCaToHl 1 | 4+10=14

What do you mean by social problem?
Discuss the characteristics of social
problem.

(b) TR Rewrd T 7 SRewR ey
St Rl S riRe RETRR ev[e 93 3571
forn 4+10=14
What is population explosion? Write an

essay on population explosion as a
major problem in India.
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(c)

(@)

(a)

(v)
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(7)

TR @ TR SRR e e @3l
o1 fordt | 14

Write an essay on the measures for
prevention of alcoholism.

upPe wwe P [ owr wphe
w9 R it e Rsa
HICADA <41 | - 4+10=14
What do you understand by Scheduled
Tribes? Discuss about the various social
problems of Scheduled Tribes.

Y8— / Part—2

AR I A 7 TS SRS
TR R ¢°RS «F T SR |

4+10=14
What is social welfare? Give an analysis
on the scope of social welfare in
post-Independent India.

SRS @5 TRIGA AT IR
WWWWI 14

Discuss the background of social
welfare activites of the Non-
Government Organization in India.
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(8)

(¢ TF fRrE T e TR GREFR
Rema w11 4+10=14

What is social security? Analyze its
characteristics.

‘(d)wmﬁquhﬁmm
IRFRAT TS @3 041 for | 14

Write an essay on the measures of
social security which have been adopted
by the Government of India.
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